
I. Complete the gaps with the appropriate forms of the verbs in brackets. Sometimes more 

than one option is possible. 

1. A passenger _________________ (just/collapse). 

2. We ___________________ (continue) to Stansted, unless ___________________ (be) further 

drop in oil pressure. 

3. We ___________________ (do) a low pass in case the gear ___________________ (not extend) 

properly. 

4. If the gear ___________________ (not extend) properly, the aircraft ___________________ 

(sustain) serious damage. 

5. We ____________________ (show) three greens so the gear _________________ (lock down). 

6. If the leading edges ____________________ (cover) with ice, we ___________________ ( have 

to) return to the stand for de-icing. Luckily, they are not. 

7. _____________________ (you / go around)? 

8. ______________________ (you/ descend) to FL230 or ___________________ (you /stay) at 

your present FL? 

9. N1 ____________________ (surge). We ___________________ (go back). 

10. We ___________________ (not land) safely if we ____________________ ( not solve ) the 

problem with the flaps. 

11. Our endurance is dangerously low. We ____________________ (land) as soon as possible. 

12. The EPR gauge on N2 _____________________ (show) abnormal values. Unless it 

_________________ (go back) to normal, we ________________ (divert) to Luton. 

II. Which of the sentences below refer to: 

a) what has happened / happened 

b) the present situation 

c) intention 

d) condition 

 


